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The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Ouestign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 100 are printed both in English and in Kannada. Doubts regarding

the meaning and translation of Question Serial No. 1 to 100 will be settled based on the
Questions in English.

Twok blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1.

Which of the following about Rudradaman is/are correct ?
i. He is known for Junagadh inscription.
ii. He undertook the restoration of a reservoir called Sudarshana lake.
iii. He defeated the Satkarni ruler Gautamiputra.
iv. He married his daughter to Gautamiputra’s son, Vashishthiputra Pulumavi.
A) Only (ii) B) Only (ii and iii)
C) Only (i, ii and iv) D) All the above (i, ii, iii and iv)

Which of the following is/are not correctly matched ?

i. Vikramankdevacarita - Bilhan
ii. Mattavilasa - Mahendravikramavarman
iii. Svapnavasavadatta — Bana
iv. Devichandragupta - Visakhadatta
A) Only (ii) B) Only (iii)
C) Only (i and iv) D) All the above

Which of the following ancient text refers to Chandragupta Maurya as being of low
social origin ?

A) Mahavamsa B) Milindapanha

C) Mudrarakshasa D) Parishishtaparvan

Which of the following is not correct about ancient literature ?
A) Sutras and Sastras are together known as Smriti.

B) Manav Dharma Sastra is also known as lawbook of Manu.
C) Mitakshara is a commentary on the lawbook of Yajnavalkya.
D) Dharma Sutras deal with domestic religious ceremonies.

Which of the following is/are not correct about the Mughal Jagirdari System ?
i. All Mansabdars were Jagirdars.

ii. Mansabdar was assigned a Jagir that was officially estimated to yield an equivalent
amount of revenue.

iii. A small portion of Jagir were also given to the Baluch and Ghakkar chiefs.

iv. After few years of revenue collection rights a Jagirdar was given hereditary rights
in his assignment.

A) Only (ii) B) Only (iii) C) Only (iiandiv) D) Only (iv)
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6. Which of the following is/are not correctly matched ?

i. Bal Gangadhar Tilak : Tenets of the New Party

ii. Lala Harkishan Lal : Tribune
iii. Lala Lajpat Rai :  Bharat Mata
iv. Sirajuddin Ahmad :  Anjuman-i-Mohibban-i-Watan
A) Only (i) B) Only (iii) C) Only (iiiand iv) D) Only (iv)

7. Consider the following events of the Indian National Movement :
I. RIN Mutiny Il. Cabinet Mission
[ll. Cripps Mission IV. Shimla Conference
What is the correct chronological order of these events ?
A) IV, 1L B) IV, Il 1,1l C) UL IV, 11 D) I IV, I, 1

8. Consider the following statements :
Statement | : Rajkumar Shukla invited Mahatma Gandhi to lead the Champaran
Satyagraha in Bihar in 1917.

Statement Il : The farmers of Champaran were forced to grow indigo under the
Tinkathia System.

Which of the following is correct in respect of the above statements ?

A) Both Statement | and Statement Il are correct and Statement Il explains
Statement |

B) Both Statement | and Statement Il are correct but Statement Il does not explain
Statement |

C) Statement | is correct but Statement Il is incorrect

D) Statement | is incorrect but Statement Il is correct

9. Consider the following :
1. Sido 2. Velu Thampi 3. Chinnava
4. Vijayarama 5. Birsa 6. Rampa
Who among the above were the tribal leaders ?
A) 3and 5 B) 1and 5
C) 1,5and 6 D) 1,4,5and 6
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10. Which of the following is/are not correct about the Second Five Year Plan ?

i. Bombay Plan for economic development was proposed.
ii. It was based on Mahalanobis model.

iii. Hydroelectric Power Projects were established.

iv. Rourkela, Bhilai and Durgapur Steel Plants were established.

v. Gadgil Yojna of economic self-sufficiency was started.

A) Only (i and iv) B) Only (i)

C) Only (v) D) Only (i, it and v)

11. Which event directly led to the formation of the State of Kerala on November 1, 1956 ?
A) The Indian Independence Act of 1947
B) The States Reorganisation Act of 1956
C) The Government of India Act of 1935
D) The Royal Titles Act of 1858

12. The “Education Bill” introduced by the first EMS Ministry in Kerala caused significant
controversy. What was its primary focus ?

A) Free technical education

B) Introduction of English as a medium of instruction
C) Adult literacy programs

D) Government control over private aided schools

13. Which social reformer founded the “Sadhu Jana Paripalana Sangham” ?
A) Sree Narayana Guru B) Ayyankali
C) Chattampi Swamikal D) Brahmananda Sivayogi

14. The “Temple Entry Proclamation” of 1936 was issued by which Maharaja of
Travancore ?

A) Chithira Thirunal Balarama Varma B) Swathi Thirunal
C) Marthanda Varma D) Rama Varma IX

15. Which Treaty between the English East India Company and Travancore in 1795,
heavily impacted the economic autonomy of Travancore ?

A) Treaty of Mangalore B) Treaty of Srirangapatna

C) Treaty of Mavelikkara D) Treaty of Cochin
A -6-
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16.

17.

18.

19.

20.

21.

What was the primary goal of the “Nivarthana Agitation” ?
A) Land reforms

B) Representation in the Legislative Assembly

C) Temple entry

D) Educational reforms

Who presided over the Aluva Religious Conference of 1924, a significant event that
promoted interfaith dialogue and social reform in Kerala ?

A) Sree Narayana Guru B) Chattampi Swamikal
C) Swami Sathyavrathan D) Swami Bodhananda

Which specific clause within the Madras Estates Land Act of 1908, despite its overall
intent, inadvertently exacerbated the pre-existing vulnerabilities of certain tenant
groups in the Malabar region ?

A) Clause relating to the standardization of land revenue

B) Clause concerning the definition of “private land” and its implications for customary
tenures

C) Clause regarding the introduction of new irrigation systems
D) Clause pertaining to the regulation of timber extraction

Which specific Trade Agreement, prior to the arrival of the East India Company,
significantly altered the balance of maritime power in the Arabian sea, thereby
indirectly contributing to the later vulnerability of Malabar's Coastal Trade ?

A) The Treaty of Jeddah (1559)

B) The Venetian-Cochin Spice Treaty (1487)

C) The Portuguese-Calicut Trade Accord (1513)
D) The Ottoman-Travancore Maritime Pact (1625)

Which specific event or meeting facilitated T.K. Madhavan’s ability to bring the issue
of untouchability in Kerala to Mahatma Gandhi’s direct attention ?

A) The Round Table Conferences in London

B) The inauguration of the Travancore Legislative Assembly

C) The founding of the All India Harijan Sevak Sangh

D) The Kakinada session of the Indian National Congress in 1923

~— N N e

Pentagonal International System of 1970s included
A) USA, USSR, UK, Japan, China
B) USA, USSR, UK, Germany, East Asia
C) USA, USSR, China, Japan and Western Europe
D) USA, USSR, Germany, China, Japan

-8-
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22.

23.

24.

25.

26.

27.

Which of the following treaties did not redraw the map of Europe ?
A) Treaty of Vienna B) Treaty of Versailles
C) Treaty of Westphalia D) Treaty of Locarno

Match the following.

i. Guided Democracy a. USA
ii. Progressive Movement b. Bukharin
iii. Decolonization c. Sukarno
iv. Huk Rebellion d. Philippines
A) i-d, ii-b, iii-d, iv-c B) i-c, ii-a, iii-b, iv-d
C) i-a, ii-b, iii-c, iv-d D) i-c, ii-a, iii-d, iv-b

Organization of African Unity intended to

A) Eradicate colonialism from African continent

B) Resolve border disputes among African States

C) Promote economic and social cooperation among the African people
D) All of the above

Who analysed the role of print media in imagining nationhood ?
A) Perry Anderson B) Benedict Anderson
C) Victor Kiernann D) Walter Bagehot

Yom Kippur War was fought to

A) Recover lost territories from Israel
B) Open access to Suez Canal

C) Occupy the territories of Lebanon
D) Destroy the PLO

Find which statement is not true.

A) Cuban Missile Crisis ended with the establishment of a direct communication
line between the USA and the USSR to avoid future confrontation

B) Siam was a French colony in the late 19" century

C) Balkan nationalism generated in the context of the decline of the Austro Hungarian
and the Ottoman Empire

D) Meiji Restoration marked the beginning of industrialization and westernization
in Japan

-10-
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28.

29.

30.

31.

32.

33.

34.

Whose name is associated with the study of capitalism ?
A) Edward Gibbon B) Maurice Dobb
C) R. G. Collingwood D) Johan Huizinga

Choose the correct chronological order for the following matters.

i. Monroe Doctrine ii. Concert of Europe
iii. Zollverein iv. Young ltaly
A) i, ii, iii, iv B) i, iii, i, iv C) i, i, iv, iii D) iii, i, iv, ii

Match the following.

i. Alexander Gerschenkron a. Core, periphery, semi-periphery states
ii. Immanuel Wallerstein b. Analysis of economic backwardness
iii. Eric Hobsbawm c. History-at-a-distance
iv. Fernand Braudel d. Real socialism

A) i-b, ii-a, iii-d, iv-C B) i-c, ii-a, iii-d, iv-b
C) i-d, ii-a, iii-b, iv-c D) i-a, ii-b, iii-c, iv-d

Find out the correct arrangement of the following journals in the order of their editors
given below.

i. P. S. Varier ii. Moorkoth Sreenivasan
iii. Kumaranasaan iv. Makthi Thangal
A) i — Vivekodayam, ii — Dhanvanthari, iii — Vajrasoochi, iv — Paropakari
B) i — Paropakari, ii — Vajrasoochi, iii — Dhanvanthari, iv — Vivekodayam
C) i — Dhanvanthari, ii — Vajrasoochi, iii — Vivekodayam, iv — Paropakari
D) i — Vajrasoochi, ii — Paropakari, iii — Dhanvanthari, iv — Vivekodayam

Give the name of the musical instrument which is used in Soapanasangeetham.
A) Thudi B) Chenda C) Veena D) ldayka

Koimpidaran (Koyimpada Nair) is the character of which ritualistic art form ?
A) Ninabali B) Mudiyattu C) Chimmanakkali D) Pateni

Which one of the following is not an ayurvedic text ?
A) Mukundamaala B) Mathangaleela
C) Aalathur Manipravaalam D) Yogamritham

-12-
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35.

36.

37.

38.

39.

40.

41.

42.

The heroic character, Chengannuraathi belongs to which narrative tradition of
Kerala ?

A) Vadakkan Pattu B) Thekkan Pattu
C) Idanaadan Pattu D) Thottam Pattu

Find out the correct chronological order of the following novels.

A) Oru vazhiyum kure nizhalukalum, Agnisakshi, Alahayude Penmakkal, Aaraachaar
B) Aaraachaar, Alahayude Penmakkal, Oru vazhiyum kure nizhalukalum, Agnisakshi
C) Alahayude Penmakkal, Aaraachaar, Agnisakshi, Oru vazhiyum kure nizhalukalum
D) Agnisakshi, Oru vazhiyum kure nizhalukalum, Alahayude Penmakkal, Aaraachaar

The four languages of the Dakshin Dravida branch are
i. Tamil, Kannada, Gondi, Malayalam
ii. Tamil, Kannada, Tulu, Malayalam
iii. Tamil, Kannada, Toda, Malayalam
iv. Tamil, Kannada, Malto, Malayalam
A) i is correct B) iand iv are correct
C) iandii are correct D) ii and iii are correct

Who discovered the Edakkal caves and its Rock art in Wayanad ?
A) Robert Bruce Foote B) Babington
C) Fawcett D) William Logan

Which place is known for Bharateshwara Temple in Kerala ?
A) Atingal B) Irinjalakuda C) Thirunelli D) Payyanur

Which one of the following is the musical and dance performance of the Adiya
community in connection with agrarian practices/jobs ?

A) Kambala dance B) Gaddika
C) Eruthunritham D) Mankoothu Vilayattam

Which among the following province secured highest representation in the Constituent
Assembly of India as on 31%' December 1947 ?

A) Madras B) Bihar C) West Bengal D) Bombay

Which among the following item is included in concurrent list of Indian Constitution ?
A) United Nations Organization B) Fisheries
C) Foreign Loans D) Economic and Social Planning
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43.

44.

45.

46.

47.

48.

49.

Identify the wrong statement with regard to the Power of President of India.
A) Power to appoint Ministers

B) Power to Pardon cases of Court Martial

C) Absolute power to appoint Inferior Officers

D) Power to Summon Parliament

Who among the following has right of audience in all courts of India ?
A) Advocate General B) Attorney General of India
C) Minister for law in India D) Speaker of Lok Sabha

Identify the right statement/s from the list given below.

1. With the proclamation of Art. 358 Article 19 will be automatically suspended.
2. With the proclamation of Art. 359 Article 19 will be automatically suspended.
3. The constitutionality of a declaration of emergency can be questioned in court.

4. Art. 360 has been used three times since independence.
A) 1and 2 B) 1and 3 C) 1,2and 3 D) 3and 4

As per the Indian Constitution which is the mandatory population limit to constitute
intermediate levels of Panchayat Raj Institutions ?

A) Above 10 Lakhs B) Above 15 Lakhs
C) Above 20 Lakhs D) Above 25 Lakhs

Who is appointed as the leader of the House in Rajya Sabha ?
A) The leader of opposition party

B) Prime Minister or a Minister, who is a member of Rajya Sabha nominated by the
Prime Minister

C) A senior member nominated by the Chairman of the House
D) A member of the House elected by majority of the House

The Inter-State Council is appointed by
A) The President of India B) The Parliament of India

C) Supreme Court of India D) Prime Minister of India

To strengthen e-Governance in Panchayati Raj Institutions (PRIs) the Ministry of

Panchayati Raj (MoPR) launched a user-friendly web-based
portal.

A) e-GrameenSwaraj B) e-Panchayat Portal

C) e-Seva Portal D) e-GramSwaraj
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50.

51.

52.

53.

54.

As per Section 7 (1) of the RTI Act, 2005, the information sought concerns the life
or liberty of a person, it shall be supplied within

A) 15 days B) 30 days C) 36 hours D) 48 hours

Consider the given four statements and choose the correct answer from the
given options. (Under Mahatma Gandhi National Rural Employment Guarantee
Scheme)

1. Gives the Gram Sabha the right to Social Audit of all works and expenditures.

2. The Barefoot Technician (BFT) Project was launched in 2010-2011.

3. Project ‘UNNATTY’, a skilling project intends to upgrade the skill base of the
MGNREGA beneficiaries.

4. Cluster Facilitation Project was launched in 2014 with the objective to
provide SC/ST people the livelihood under MGNREGA.

A) Only 1 and 2 B) Only2and3 C) Only1and3 D) Only 3 and 4

Match List — | with List — Il and choose the correct answer from the given options.

List -1 List -1l

(E-governance Initiatives of (Initiated/Launched in the Year)
Central Government)

a. E-Biz 1. 2013

b. MeghRaj 2. 2022

c. Diksha 3. 2017

d. Meri Pehchaan 4. 2014

A) a-1, b-2, c-3, d-4 B) a-1, b-4, ¢c-3, d-2
C) a-2, b-3, c-4, d-1 D) a-4, b-2, c-3, d-1

Which one of the following conventions that India has ratified/party to ?
A) UN Convention on Status of Refugee (1951)

B) ILO Convention on Violence and Harassment Convention (2019)
C) UN Convention on Law of Sea (1982)

D) ILO Convention on Night Work Convention (1990)

Arrange the following in chronological order.
(Summits/meeting hosted by India 2021-2024)

1. BIMSTEC Business Summit 2. BRICS Summit
3. First India-Central Asia Summit 4. SCO Summit
A) 2,3,4,1 B) 1,4,3,2 C) 3,2,4,1 D) 4, 3,2, 1
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55. Consider the given four statements and choose the correct answer from the given

options.
V\?hich are the divisions in Ministry of External Affairs, Government of India ?
1. G-7 2. Indo-Pacific 3. South Asia 4. Eurasia
A) Only 1 and 2 B) Only2and4 C) Only1and3 D) Only 3and 4
56. Match List — | with List — || and choose the correct answer from the given options.
List -1 List -l
(Arms Control Group/Convention) (India)
a. UN Convention against Corruption 1. Joined in 2018
b. Missile Technology Control Regime (MTCR) 2. Ratified in 2011
c. Conventions on Rights of Persons with Disabilities 3. Joined in 2016
d. Australia Group (AG) 4. Ratified in 2007
A) a-2, b-3, c-4, d-1 B) a-1, b-2, ¢c-3, d-4
C) a-3, b-1, c-2, d-4 D) a-2, b-4, c-3, d-1

57. Consider the following tribunals :
1. Land Tribunal
2. Administrative Tribunal
3. Industrial Tribunal
Which one of the following is correct with respect to the above ?
A) All these tribunals take its origin from Art. 323A of the Constitution
B) All these tribunals are created under a single legislation

C) Administrative tribunals are specialized tribunals but all specialized tribunals are
not administrative tribunals

D) Both A) and B)

58. Which one of the following is true ?
A) Election Commission is a constitutional body with quasi judicial power
B) NITI Aayog is a statutory regulatory body
C) National Women’s Commission is a statutory body
D) Both A) and C)

59. Which of the following is gender neutral legislation ?
A) Protection of Children from Sexual Offences Act, 2012
B) Protection of Women from Domestic Violence Act, 2005

C) Sexual Harassment of Women at Workplace (Prevention, Prohibition and
Redressal) Act, 2013

D) None of the above
A -20-
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60. Consider the following :

61.

62.

63.

1. Pre vaginum test or two finger test
2. Sexual harassment
3. Women as property of husband
Which of the following Statement is true with respect to the above factors ?

A) This test conducted in rape and sexual assault cases is declared as unconstitutional
by the Supreme Court

B) Sexual harassment is an offence under Bharatiya Nyaya Sanhitha 2023 and it
deals only with workplace harassment

C) Indian criminal law does not recognize women as the property of husband
D) Both A) and C)

Which of the following legislations is meant for SC/ST ?

A) Scheduled Caste and Scheduled Tribes (Prevention of Atrocities) Act, 1989
B) Forest Rights Act, 2006

C) Protection of Civil Rights Act, 1955

D) All the above

Which of the following statements is/are true with respect to Constitutional Amendments ?
A) Constitutional Amendments are made by virtue of constituent power

B) Constitutional Amendments are made by virtue of power under Art. 368 of the
Constitution

C) Constitutional Amendments are not law under Art. 13 of the Constitution
D) All the above

Consider the statements :

1. Judicial review power could be exercised only by Supreme Court and High Courts.
2. Judicial review has its basis in Art. 32 and Art. 226 of the Constitution.
3. Judicial activism is a form of judicial review.

Analyse the above statements and find out which of the following correlations is false
with respect to public interest litigation.

A) Public interest litigation is the product of judicial activism
B) Public interest litigations are filed before HCs and Supreme Court

)
C) Public interest litigation could be filed by any person irrespective of his interest in it
D) Only A) and C)
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64.

65.

66.

67.

Which of the following statements is false with respect to emergency under the
Constitution ?

A) Emergency may be declared on account of failure of Constitutional machinery
in a State.

B) During emergency, there is suspension of right to Constitutional Remedies with
respect to enforcement of all fundamental rights.

C) Art. 360 of the Constitution talks about financial emergency.
D) None of the above

Consider the following statements with regard to the fundamental rights :

i. The doctrine of waiver is inapplicable to fundamental rights as like in the
USA Constitution.

ii. The Part-1ll of the Constitution contains the self executory and non-executory
fundamental rights.

iii. The Supreme Court opined in Menaka Gandhi case that the provisions in Part-llI
are not mutually exclusive and forms part of integrated whole.

iv. The nature of fundamental rights is absolute.
v. The President of India is authorized to suspend the fundamental rights during
the period of emergency except Articles 20 and 21.
In the above statements, which are correct ?
A) Only (i, iii and iv) B) Only (i, ii and v)
C) Only (ii, iii and v) D) Only (ii, ivand v)

Assertion (A) : The Part-lll and IV of the Constitution are considered as the
conscience of the Constitution.

Reason (R) : The principles contained in the Part-1V are moral precepts and it can
be enforceable by Art. 37 of the Constitution.

Select the correct answer code.

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) (A) is true but (R) is false

C) (A) is false but (R) is true

D) None of the above

Assertion (A) : Though the people of this country differed in a number of ways,
they all were proud to regard themselves as participants in a common heritage and
composite culture.

Reason (R) : The foundation of composite culture of India is the Sanskrit language
and culture which is the great biding force in India.

Select the correct answer code.
A) Both (A) and (R) are true and (R) is the correct explanation of (A)
B) (A) is true but (R) is false
C) (A) is false but (R) is true
D) None of the above
-24-
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68. Match the following with using correct answer code.

Incorporated Fundamental Propounded in
Rights in Art. 21
i. Right of elderly persons a. Ashwani Kumar V. Union of India
ii. Right to publish a book b. Meera Santhosh Pal V. Union of India
iii. Right to be forgotten c. State of Maharashtra V. Prabhakar Pandurang
Sangzgir
iv. Right to abortion d. Neekunj Todi V. Union of India
A) i-a, ii-d, iii-c, iv-b B) i-b, ii-c, iii-d, iv-a
C) i-a, ii-c, iii-d, iv-b D) i-b, ii-d, iii-c, iv-a

69. With reference to the principle of Rule of Law, consider the following statements :
i. Itis the supreme manifestation of human civilization and culture.
ii. Itis an animation of the historical law.

ii. It mandates that power must be unaccountable, governance progressively just
and equal.

iv. Itis based on the principles of freedom, equality, non-discrimination, fraternity,
accountability and non-arbitrariness.

Which of the statements given above are correct ?
A) Only (i and ii) B) Only (iiandiii) C) Only (iiandiv) D) Only (i and iv)

70. Assertion (A) : Droit Administratif does represent principles and rules laid down by
the French Parliament.

Reason (R) : The principles and rules have been developed by the Judges of the
Administrative Courts.

Select the correct answer code.

A) Both (A) and (R) are true and (R) is the correct explanation of (A)
B) (A) is true but (R) is false

C) (A) is false but (R) is true

D) None of the above

71. 15years ago, the mother’s age was twice the daughter’s age. If 3 years from now, the
sum of their ages will be 99, what is the difference between their present ages ?

A) 19 years B) 21 years C) 28 years D) 25 years

72. In a society with 100 members, each member plays at least one sport amongst cricket,
hockey and volleyball. If 20 members play cricket only, 30 play hockey only, 25 play
volleyball only, 12 play both cricket and hockey, 7 play both hockey and volleyball and
3 members play all the sports, then how many members play at least two sports ?

A) 25 B) 22 C) 32 D) 35
A -26-
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73. In a certain language, ‘CLASS’ is coded as ‘UUCNE’. What is the code for ‘SECTION’ ?
A) PQKVGEU B) PQLVEGU C) PQVKGEU D) PQKVEGU

74. Suppose A + B means ‘A is the daughter of B’,
A = B means ‘A is the mother of B,
A x B means ‘A is the son of B,
A — B means ‘A is the father of B’.
fP+Q-RxS+T,thenhowis Prelatedto T ?
A) P isthe wife of T B) P is the sisterof T
C) T is the grandmother of P D) T is the mother of P

75. xis a three-digit natural number such that the difference between the number and its
reverse is 99. Then what is the difference between the digit at the hundred’s place
and the digit at the unit’s place of x ?

A) 3 B) 0 C) 1 D) 2

76. An athlete running on a track falls short of the finish line by 20 m when she runs at a
constant speed for a given time. If she increases her speed by 40%, she overshoots
by 10 m in the same time. What is the length of the track ?

A) 85m B) 90 m C) 95m D) 100 m

77. The following Pie chart represents the vehicles used by office goers to reach their office.

What is the central angle corresponding to the office goers who use four-wheelers for
their commute ?
A) 202.5° B) 203° C) 208.5° D) 204°

A -08-
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A) 85 oe. B) 90 woe. C) 95 &woe. D) 100 <.

. BN e»"gj LI B3O TBRCMITIRTD 33% 5&3@@0&)@{ SOOTED WO m%ﬁﬁ%ﬁ@t @é@@ﬁ@d.
4 Vehicles
4 3 0 S b
3 \& _
. s 3

3339 T, 0300€9TN TP, 235,33 TRTBINTT, WA Te3e0N DRETOTZON SROMIETIT 3e0T,
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78.

79.

80.

81.

82.

83.

84.

85.

A hundred participants entered a Spell Bee Contest. Rounds were held with 2 participants
competing against each other in every round. After each round, the loser of the round
gets eliminated from the contest and the winner of the round continues in the game. If
none of the rounds resulted in a tie/draw, how many rounds were played to decide the
final winner ?

A) 100 B) 101 C) 98 D) 99

In the figure given below, AC is the diameter of the circle. If AB =12 cm and BC =5cm,
find the area of the shaded region.

B

A) 101.73 cm? B) 102.73cm?®  C) 103.73 cm? D) 104.73 cm?

The negation of the statement “Amit lives in Delhi and Aman does not live in Mumbai” is
A) Amit lives in Delhi and Aman lives in Mumbai

B)

C) Amit does not live in Delhi or Aman does not live in Mumbai
D)

Amit does not live in Delhi and Aman lives in Mumbai

Amit does not live in Delhi or Aman lives in Mumbai

The 100th common term between the series 3+5+7+9+..and3+6+9+ 12+ ...is
A) 595 B) 597 C) 605 D) 607

Given that 15" March, 2025 is a Saturday, which date of March, 2050 among the
following is a Sunday ?

A) 20 B) 21 C) 22 D) 23

What is the angle between the hour hand and the minute hand of a clock when the
clock shows 10 hours 10 minutes ?

A) 240° B) 130° C) 245° D) 120°

If the rate of interest is 15%, then what is the difference between compound interest
and simple interest received on Rs. 10,000 after 3 years from now ?

A) Rs. 295 B) Rs. 300 C) Rs. 305 D) Rs. 310

A shopkeeper sold a product at 10% loss. Had his selling price been Rs. 100 more,
he would have made a profit of 10%. What was the cost price ?

A) Rs. 500 B) Rs. 600 C) Rs. 700 D) Rs. 800
-30-
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-31-



64/25 - K

86.

87.

88.

89.

Statement : The Earth’s outer core is liquid, while the inner core is solid.

Assertion : The immense pressure at the Earth’s center forces the inner core into a
solid state despite its high temperature.

Which of the following is correct ?

A) Both the Statement and Assertion are true and the Assertion is the correct
explanation of the Statement

B) Both the Statement and Assertion are true, but the Assertion is not the correct
explanation of the Statement

C) The Statement is true, but the Assertion is false
D) The Statement is false, but the Assertion is true

Which of the following statements are correct in relation to the rotational characteristics
of planets in our solar system ?

i. With the exception of Venus and Mars, all the planets rotate in the same clockwise
direction.

ii. With the exception of Uranus and Neptune, all the planets rotate in the same counter
clockwise direction.

iii. With the exception of Venus and Uranus, all the planets rotate in the same counter
clockwise direction.

iv. All the planet’s orbits lie close to the same plane (the plane of the ecliptic) passing
through the Sun’s equator.

A) Only (i and ii) B) Only (i andiii) C) Only (iiandiv) D) Only (iii and iv)

Arrange the following atmospheric components in order from most abundant to least
abundant.

1. Argon 2. Nitrogen 3. Carbon dioxide 4. Oxygen
A) 2,4,1,3 B) 4,2,1,3 C) 2,1,4,3 D) 2, 3,4, 1

Match the term with its description regarding air mass stability.

Term Description
i. Stable air mass a. Air that resists vertical motion, leading to layered
clouds and smooth air
ii. Unstable air mass b. Air that promotes vertical motion, leading to
thunderstorms and turbulent air
iii. Conditional instability c. Air that is stable for unsaturated air, but
becomes unstable when saturated
A) i-a, ii-b, iii-c B) i-b, ii-a, iii-c C) i-c, ii-a, iii-b D) i-a, ii-c, iii-b
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90. Arrange the following steps in the process of coral bleaching.
1. Corals expel their symbiotic algae.
2. Increased water temperature.
3. Corals loose their colour and become stressed.
4. Reduced photosynthetic activity.

A) 2,4,1,3 B) 1,8,2,4 C) 2,1,4,3 D) 4,2, 3,1

91. Assertion (A) : Epeirogenic movements result in the formation of deep ocean
trenches.
Reason (R) : Epeirogenesis involves localized, intense folding and faulting of rock
layers.

Which of the following is correct ?

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
C) (A) is true but (R) is false

D) (A) is false but (R) is true

92. Match the volcanic component with the function.

Component Function
i. Magma chamber a. Pathway for magma to rise
ii. Conduit b. Storage of molten rock beneath the surface
iii. Vent c. Opening through which volcanic gases and
materials escape
A) i-a, ii-b, iii-c B) i-b, ii-a, iii-c C) i-b, ii-c, iii-a D) i-a, ii-c, iii-b

93. Around a low pressure center in the Northern Hemisphere, surface winds
A) circulate clockwise and diverge

) circulate counter clockwise and converge

) circulate clockwise and converge

) circulate counter clockwise and diverge

O 0O W

94. Which characteristic of an underwater earthquake is most likely to generate a Tsunami ?
A) Its magnitude on the Richter scale
B) Its depth and vertical displacement of the sea floor
C) lIts distance from the nearest landmass
D) Its duration
A -34-
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99.

100.

Which of the following statements accurately describes a debris flow ?

A) ltis a slow, gradual movement of soil

B) Itinvolves the free fall of rock or debris

C) ltis arapid, fluid like movement of a mixture of water, rock, soil and organic debris
D) Itis characterized by the movement of dry unconsolidated material

Which of the following physical features that are developed in the upper or mountain course
of a river ?

A) Meanders and River Cliff B) V-shaped Valley and Gorges
C) U-shaped Valley and Potholes D) Flood Plain and Oxbow Lake

Which of the following is not a cause of cultural lag ?
A) Swift advancement of technology B) Absence of legislative changes
C) Slow cultural and social adjustment D) Increased education and awareness

Match List — 1 with List — 2 and select the correct answer from the codes given below.

List-1 List -2

(Tribes) (States)
a. Soligas i. Kerala
b. Kolis ii. Madhya Pradesh
c. Kurumbas iii. Karnataka
d. Baigas iv. Maharashtra
Codes :

a b c d

A) i v [ i
B) i i il iv
C) ii iv [ i
D) i i v i
The term “troposphere temperature fall” refers to
A) Thermal loss B) Adiabatic rate
C) Laps rate D) Temperature drops

The planetary winds that move between the equatorial lowlands and the subtropical
highlands, is known as

A) Westerlies B) Polar easterlies
C) Monsoon winds D) Trade winds
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